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7.3 Analyze Geometric Sequences and Series
For a geometric sequence, the ratio of any term to the previous term is

constant. The constant ratio is called the common ratio and is
denoted by r.

Tell whether the sequence is geometric

1) 3,6,9, 12, 15, 18,... (\o+ 350M£¢
2 14,121,248, gep. f = A

3) 3,12,48,192, ... geb_ r-;.Lf



Rule for a geometric sequence (nth term)

an = ai(r)™

Write a rule for the nth term.
|
4) 6,18,54,162,.. (=2,2,= (e (A= [0(5

n~t
5) 3, 6/5, 12/25, 2é1/‘| 2?—.’5.; &n = % (_9%
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6) 7,=35, 175, -875,....

r=-5 G\n:7(,5)“'l



Write a rule for the nth term of the geometric sequence.

7) as=1, =12 / 8) as =-48, a5 =-7/68
-1

a = q, —‘—T ("3,- 4%) 651”7(”8)

6 | et e
= (= qgca, () 1e8a(r)

}— &, (%) 8 = -7%-—% ()

e =a, "~

n-1 -3 = 2
Ap = f[o(-;_-) A 3 ‘fj(







The sum of a Finite Geometric Series

_ -
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Find the sum of the geometric series.

Z@(
5y = Q,__)_) ('“36&?: 2. (-25s)

= -5]0




7.4: Find Sums of Infinite Geometric Series
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Find the sum of the infinite geometric series, if it exists.

& Z%ﬁﬁ BrEr it

125" ()5
9
Since r*s—(—f/\.a_ S::. g_L,. :..éff_’
;{L-Cun\\'e-SL’m 5| - =5
eX 5. = |0

q 490



Find the sum of the infinite geometric series, if it exists.



Applications

A rubber ball is dropped from a height if 60 feet. Each
bounce takes it to 2/3 of its previous height. What is
the total vertical distance the ball travels?

5:&_____ 03 130
=r  3)-%> ¢
= 4D §T.



A pendulum that is released to swing freely travels

25 inches on the first swing. On each successive swing,
the pendulum travels 85% as far as the previous swing.
What is the total distancq of the pendulum swings?

35=28>
S 7 = 11
= z5 |-3% 20
— = 5 |bb—'2_i£,.
= 50b L,IE x 15
90"‘[7 - -5’—-00“ .){\




